REVISIONS
NOTES: @ | = 3 APPROWL
o _ 13 GA ROLLER SLIDE ATTACHED TO
e et Uil iy L 13 GA HORIZ ANGLE — BRACKET WITH 5/16-18 BOLT & NUT [s0704] B 1 rev per ER u/13/12 L GRt |
d FSC
TOP OR INTERMEDIATE SECTION (WITH OR WITHOUT !:‘R fgg";&}g‘} ”4‘222)/;5%""“3415 . i 15 UPhATE oS 0D Lise e T 56
DECORATIVE INSERTS). GLAZING SHALL BE 1/4” 13 GA FLAG ANGLE — oK AN Tw/o R T . . 2o0ep wo/ec wor o | 4712721 | Tic |
POLYCARBONATE. MAXIMUM GLAZING DIMENSIONS
SHALL BE 11" x 17" CUTOUT, FASTENED WITH 48 X 13 GA COMMERCIAL ‘A’ FRAME hooR
1" SMS:_3X ALONG THE HORIZONTAL AND 2X 16 GA MIN HORIZ — | TOP BRACKET ATTACHED WITH . 20 GA CENTER STILE € |
ALONG THE VERTICAL. SEE DETAIL A ON SHEET 2 TRACK (4) 1/4-14x7/8" SELF
FOR ASSEMBLY DETAILS. DRILLING CRIMPTITE SCRE * -
5/16x1-5/8" — \
2. VINYL OR WOOD DOOR STOP NAILED A MAXIMUM LAG SCREW (M1 3
OF 6" 0.C. MUST OVERLAP TOP AND BOTH ENDS - .
OF PANELS MINIMUM 7/16" TO MEET NEGATIVE @ 14200 /Ai SE:J::E) ADD (2) 1/4-14037/8° , \
PRESSURES. 4) 1/4-20x9/16" — .
LeAD TRAGK BOLTS OR SELF DRILUNG CRIMPTITE SCREWS 16 GA END STILE \ Lo
3. KEY LOCK, SLIDE LOCK, OR OPERATOR REQUIRED. 1/4=20 STUDS WITH (INSIDE OF EACH END HINGE) ’ e
1/4-20 HEX NUTS o °
4 eCTION STEEL TO HAVE A MINMUM 25 GA A 2" NYLON STORMGARD ROLLER D
15 GA MIN_VERT WTH 4—1/2" STEM. OPTIONAL— : .
5 THE DES|GN OF THE SUPPORTING STRUCTURAL 11 BALL BEARING NYLON N \
BE_THE RESPONSIBILITY OF THE 1/4-20x9,/16" TRACK —] ROLLER
PROFESSIONAL OF REGORD FOR THE BULDING OF BOLT AND /420 HEX :
STRUCTURE AND IN ACCORDANCE WITH CURRENT T o 420 HeX . . s :
BUILDING CODES FOR THE LOADS LISTED ON THIS . N - h
BuLIING JAMB BRACKET LOCATION . b4 :
14 GA WIDE BODY END [0
DODR JANB TO BE MINNUM 266, STRUCTURAL . HINGE ATTACHED WI 1 )
GRADE SOUTHERN PINE. REFER TO J 5/16x1-5/8" LAG —\ 4) 1/4—14x5/8" SELF ° I
CONNECTION SUPPLEMENT FOR A1TA01-|MENT T0 SCREW AT EACH ‘mpp@s SCRI 53 .
SUPPORTING STRUCTURE. JAMB BRACKET '
7. FOR LOW HEAD ROOM LIFT CONDITIONS, TOP . F >
BRACKET SHALL BE A 13 GA LHR 7/4 TOP . . ,
BRACKET WITH A MINIMUM OF (3) 1/4—14x7/8" . ¢
SELF DRILLING CRMPTITE SCREWS IN LIEU OF THe _/
BRACKET SHOWN ON THIS DRAWING. U-BAR ON :

TOP SECTION SHALL BE INSTALLED ON TOP OF LHR
TOP BRACKETS.

SUPERIMPOSED DESIGN PRESSURE
LOADS ON SUPPORTING STRUCTURE

OO0R | (R0OR. | uNIFORM LOAD EACH JAMB (PLF)
8—0" | ALL +184.0/—208.0
9'—0" | AW +207.0/—234.0
p:‘v':..f.IE,\r\\
\S‘ .

56308

15 GA STIFFENED
JAMB BRACKETS
SEE SCHELDULE FOR
QUANITY, LOCATION,
AND TYPE

KEY LOCK OR SLIDE -
LOCK ONE END (NOT
REQUIRED WTH
OPERATOR — SEE
NOTE 4). SUDE LOCK
SHOWN FOR CLARITY

NOTE:  (4) SECTION SOLID
DOOR SHOWN. SEE SHEET
2 FOR U-BAR LOCATIONS
ON DOORS WITH OTHI

SECTION QUANTITIES i
SEE NOTES 1 AND 2 THIS
SHEET FOR GLAZING
OPTIONS.

18 GA NARROW BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4-14x5/8" SELF
TAPPING SCREWS

14 GA BOTTOM BRACKET
ATTACHED WITH (2)
1/4-14x7/8" SELF DRILLING
CRIMPTITE SCREWS AND (1)
1/4-14x5/8" SELF DRILLING
RED SCREW

JAMB BRACKET SCHEDULE
). M|
DOOR | NO. OF | BRACKETS BRA(XEIS MEASURED FROM Borrou
HEIGHT|SECTIONS|(FacH JaMB) OF TRACK (ALL DIMENSIONS * 2%)
4 FAT=7 ¥ (JB—US), 10" (JB—US), 21-3/4" (JB-US), 29-3/4" (JB—US), 39" (JB—US), 48" (JB-US), 57-1/4" (B-US)
4 FAT=7 " (JB-US), 10~ (JB-US), 21-3/4" (B Jsi 29-3/4" (JB-US), 42" (JB-US), 52—1/2" (JB-US), 63—1/4" (JB-US)
5 FAT-8 JB—US), 10~ (JB-US), 18-3/4" (JB-US), 26-3/4" (B-US), 36~ (JB-US), 45~ (JB-US), 54—1/4" (JB-US), 74=1/2" {JB-US)
5 FAT=8 " (J8—US), 10" (JB—US), 21-3/4" (JB-US), 20-3/4" (JB—US), 39~ (JB-US), 48" (JB-US), 57-1/2" (JB-US), 75-1/2" (JB-US)|
SEE_NOTE BELOW

NOTE:
(JB AND NGR) FOLLOWING DIMENSION DENOTES SLOTTED JAMB BRACKET ATTACHED TO TRACK WITH 1/4—-20x9/16” TRACK BOLT AND NUT AS SHOWN ABOME.
ALL DOORS GREATER THAN 8' IN HEIGHT REQUIRE USE OF CONTINUOUS WALL ANGLE. SEE SUPPLEMENT TRACK CHART FOR DETAILS.

SERIES 170-177,

COMPLIES WMITH THE REQUIREMENTS OF IBC/IRC 2018.

180-187, 1400,

IS DRAWING

2560 KING ARTHUR BLVD #24-54
LEWMISVILLE, TX
FL PE 51737

PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR
VERI| TX PE 56308/F2203

IFICATION OF WINDLOAD CONSTRUCTION DETAILS.

Digitally signed by John E. Scates, P.E.

Date: 2021.04.13 11:35:13 -05'00'

8 | 7

6 5

1440,

E DRAWINGS AN ALL THER. INFORMATION GONTARED FEREIN, ARE. TR CONFIZENTAL AND PROPRIETARY PROPERTY OF
mnmmmu N WHOLE OR IN PART, MAY NOT GE COPED IN AYY WANNCR
INFORMATION S INTENDED T0 OPERATE

STATIC PRESSURE RATINGS APPROVED SIZES

1500, 1540

MAX WIDTH: 9’

DESIGN PRESSURE(PSF): +46.0/-52.0 VAX HEGHT: 14

OR DISCLOSED TO ANYONE WITHOUT
AS A LICENSE OR

OVERHEAD
THE PRIOR WRITTEN CONSENT OF
AUTHORIZATION TO USE [T FOR ANY PURPOSE WITHOUT THE SPECIFIC WRITTEN

IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 217
DOOR OORPORAHW AND TS AFFILIA'I'EJ OOMPMIIES THIS DRAWING
OVERHEAD DOOR CORPOI 0 DISCLOSURE OF

WTOFWERH DOOR_CORPORATION.

DATE DRASWG TITLE:
mMEYLOR | 10/15/10 SERIES ,170, 180WL
DD BT, 10/25/10 WS9, 9° MAX WIDE
s B D—411043
TouRk | #/1%/2 [ WIS Jweie 2
2 1



> notES:

O]
0 0 0
o o o
0 o o

INTERIOR FRAME

SHEETMETAL SCREW

= j
il /'% 1/4" POLYCARBONATE

PLACE 3" U-BAR OVER LOW

HEADROOM BRACKET ATTACH THRU

END STILE AT EACH END WITH (2)

13 GA ADJMSTABLE

TOP FIXTURE

- L 1/4—14x7/8" SELF DRILLING
—T~ CRIMPTITE' SCREWS.
LOW HEADROOM TRACK
DETAIL A DETAIL B .
“‘\\ ATTACH U—BARS WITH
. P:‘E' OF, TE,\, (2) 1/4-14x7/6" SELF
AP e 4 DRILLING CRIMPTITE SCREWS
e Je l. LOCATIONS, TYP.
'...* "
A ! s "
S e SR SR TSN ST e STATIC PRESSURE RATINGS FPROVED SZES
5 JOHN E. SCATES ‘ DESIGN PRESSURE(PSF): +46.0/—52,0 | MAX WOTH: o
"’/ (PSF): +48.0/-52.0 10 HEIGHT. 1¢
0 56308 N IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 217
'.& o “" IE DRAMINGS AND ALL OTHER INFORMATION CONTAINED HEREIN ARE TI’E CONFIDENTIAL AND PROPRIETARY PROPERTY OF OVERHEAD DOOR OORPURATIW AND TS AFHLWI'E] OOMPMIIES THIS DRAMNG
/ o Q” MD“DRMAmNINWHOLEORINPARTMAYNUrEOOHE]INW OR DISCLOSED TO ANYONE WITHOUT THE PRIOR WRITTEN CONSENT OF OVERHEAD DOOR CORPOI 0 DISCLOSURE OF
‘ 6\.. CENse .'\e' IS DRAWING INFORMATION S INTENDED TO MASALICDEORAU'MRIZAT”NTOLE"FORWPUMWWTHES’EUF‘CWRWWTOF DOOR_CORPORATION.
DU RiCl S |t ] oo | oeews e
ONAL ELs~ o Totor | 10/15/10]  SERES 170, 180WL
A T K 2560 KING ARTHUR BLVD #124-54 —y WS9, 9° MAX WIDE
LEWSVILLE, TX M. SAWICKI | 10/25/10 e
PROFESSIONAL ENCINEER'S SEAL PROVIDED ONLY FOR | FL PE 51737 TPRD B wWex D—411043
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. TX PE 56308/F2203 REF DWG T. CLARK 4/12/21 sz N.T.G. | e 2or 2
8 | 7 5 2 1

L=BAR LOCATIONS

(8) SECTION DOORS WITH
(10) 3" 20 GA B0 Ksl U-8ARS \

AS SHOWN

(7) SECTION DOORS WITH
(9) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(6) SECTION DOORS WITH
(8) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS WITH:
(7) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
(5) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN




		2021-04-13T11:34:52-0500
	John E. Scates, P.E.


		2021-04-13T11:35:02-0500
	John E. Scates, P.E.


		2021-04-13T11:35:13-0500
	John E. Scates, P.E.




